HSSC CET Group D Question Paper 21 Oct 2023 1st Shift
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(2) W
(3) =
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(5) IR T T = |
2. WA I o a2
(1) 1930
(2) 1950
(3) 1947
(4) 1951
(5) T T A=
3. SR 2011 F HEER, YT 1 e e -
(1) 73.0
(2) 780
(3) 88.0
(4)  83.0

(5) 39 W & amwa
4. YE e

(1) 6371 f&d
(2) 8371 fmdt
(3) 9371 &g
4) 2371 %,
(5) ST & wmy
S TR S e v i 2
(1) =g figm
(2) = 3y
(@) R AEmEs
4 wEwy
(5) I T & wmm
6 ﬁm?%%umm_ma;nﬁww
(1) . TP
(2) TR TeowvE o
(3 T A
(4 R we e
(5) I & wmy,

1I

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

(20 1950
(3) 1947
(4 1951

(3) Not Attempted

As per Census 2011, the literacy rate in India
is :

(1) 73.0

(2) 78.0
(3) 88.0
(4) 83.0

(3)  Not Attempted

What is the radius of the earth ?

(1) 6371 km
(2) 8371 km
(3) 9371 km
(4) 2371 km

(5] Not Attempted

Who is the author of the book - ‘A History of
British Indja’ 7

(1) James Mil]

(2) Warren Hastings
19 Lord Mountbatten
(4 Lord Curggp

(5)  Not Attempteq

Genera] 7

W € Rafagonetachien

() Sardar Valabhbhai Patel
(3] Maulana Azad

(4)  Jawahar Lal Nehru

(5)  Not At tempted

free India’s first Governor-
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Hﬁtﬁ [2] Moth , ute ﬂfrfctlﬂ['l
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(5) Notﬁttcmpted
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12. ‘g’ fr=fataa o @ faaw v w9 8, 9l oftg
H Tl S 2
(1) =
(2) g9
(3) ImEA
(4) [
(5) SR AE < AEd |
13. e st favafaames Fe saftm €72
(1) ol
(2) M=
(3) T
4) TETS
(5) SRl & IR |
14. Frfafes § § SF-m wdma asf T s
foramerdt § v foan T formen siaia @ T
EN i e o S € ?
(1) e e
(2) WA WeH
(3) @ EE, 5 wEe
(4) & fren SFbEE
(5) SR TEl o e |
15. ‘aitg’ v WE % R T W e e g 2
(1) e
(2) o
(3) SWEEW
(4) HEA
(5) SR @ o =ed |
16. afs fordlt safe &1 goF & T 56 FX 3, T 3HF

& T i gah g fheed A < €, 1= =%
Sfiferd T&f @ GeaT | q€ WA Focdl € :

12,

13.

14.

15.

16.

‘Lugda’ is a kind of which one of the f":*ﬂ"lﬁ'-'il-jg
that is worn in Chhattisgarh ?

(1)
(2) Dupatta

3) Ornament

4)  Footwear

5) Not Attempted

Saree

Where is Jamia Islamia University situateq;

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the following refers to th;
programme introduced in all governmen
elementary schools to provide children with

cooked lunch ?

(1) Mahila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5] Not Attempted

‘Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(3) Not Attempted

If a person’s kidney stops working. Th
cannot survive unless their blood is filter
by artificial kidney. This process is called

() T (1) Excretion
(2) S (2) Dialysis
(3) e (3) Transpiration
(4) PR (4) Elimination
(5) SR @ o H9med | (5) Not Attempted
/NATH/ G1 TG T o feTe =11el / SPACE FOR ROUGH WORK ~pa0
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17.

I Tty
(1) TP | 17, wy
Nich of the following j
(2) weEEm habitat » * 15 MOt a terrestrig)
(3) a9 55 (1) Pong
(4) e a_? A (2) Desery
(5) S TE T =y ) Rainforest
I (4 Grassland
(5] Not Attempteqd
18. ESH i TH.STE. s oy 2 pec
(1) I 18. The g1 unit of mass i -
(2) fwemm (1) gram
(3) 4dREE (2)  kilogram
(4) =9 (3] pound
(5) S I A i1, ganes
(5)  Not Attempted
19. U TIH WHAA YU H T Hie # g wway ,
% I a.l.";.m an wfa= T ?,’jﬁ _'E?I"ﬁ 5 19. A boyis star{ding ata diﬂtﬂ_nce of 30 cm from
the plane mirror. What will be the di
distance
(1) 100 HEHE between the mirror and the image ?
(2) 25 ¥ (1) 100cm
(3) 50 FHIHRT @) 25em
i 50 em
@) 75T (3
(5) STl < e | {8 e
{5) Not Attempted
20, #1 wiwa § o & iam &g f
e 5 AEvaEd A6 2 E 20, No medium is required for transfer of heat by
the process of
(1) ferfeeTm (1) Radiation
(2) = {(2) Conduction
(3) HaE (3) Convection
() e (4) Transpiration
(5) mqﬁ'ﬁ?‘lﬂﬁiﬁ'l (5) Naot Attempted
21. GEL et @ A el | 21, _ ___ and are water borne
%I___ diseases.
1 TEFEE =fr afa=msfed (1) Typhoid and Meningitis
(1) S o AR (2) Beri-Beri and Dysentery
[2] = 5 {3' SC'LIW}' andl Cholera
(3) THal A EE"_ (4)  Polio and Rickets
(4) rfen -’:‘vfl'(ﬁﬂi'_{? (5) Not Attempted
= | Page 5
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2. Tetfetan 1 gifem 3

0 (m
A) ) FERE
B) s () sienm
(C) +Fm (i)
(D) Tourdt & (V) o

(1} (A)-(I), (B)-(IV), (C)-(1), (D)-(1)
(2)  (A)-(L), (B)-(IN), (C)-(1), (D)-(IV)
(3)  (A)-(IV), (B)-(11), (C)-(11), (D)-0)
(4)  (A)-(I0), (B)-(11D), (C)-(IV), ([D)-(0)

(5) TR e |
23, ___ﬁ[ﬁﬁﬁimﬂﬂ—ﬂﬁiﬁﬁﬁﬁﬁ%l
(1) feaimE A
(2) Taeim Bl
(3) faafm\
4 fEfAD
(5) W TR oA e |

g, Freifafan 4 @ @1 ot s F1 fowa T 7
(1 e () i suretd
(2) T # FuRElq
(3) et 1 1 g3t AT AeTTHR IR

4) YRR & e i #F ga § fm ot 9o

HFR B BT

(5) ST A6 o 9ed |

25, FUEERE A’ S # R

22. Match the following :

(1) ey
tem
(A) Lamina n ge:zs
B) Petal (1) vf
o (i) Lea
(C) Pistil ™) —

(D) Cre eper

(1) (A, (B)-
@ (M-, (B)-

@) (A-0Ivh (B)-(1)s :
(4) (A0 (B)-(I11), (C)-(1v), (P) 1

(5] Not Attempted

beri-be
23. Deficiency of . — causes r

disease.

(1) Vitamin A

(2) Vitamin Bl
(3) Vitamin C

(4) Vitamin D

(5] Not Attempted

24. Which of the following is not the characteristi
of fish ?

(1) Presence of fins
(2) Presence of gills
(3)  Long backbone with cylindrical body

(4) Head and tail smaller than the midd
portion of the body.

(5) Not Attempted

25. Hepatitis ‘A’ is caused by :

(1) Tvﬂﬁﬂu\l (1) Bacteria
(2) ﬁﬁﬂﬁ (2) Virus
(3) =HaH (3] Fungi
(4)  WESE (4)  Protozoa
(5) W TEl o =@ | (5) Not Attempted
VNATH/G1 I Tl % 110 2Tel / SPACE FOR ROUGH WORK =
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26.

27.

28.

29.

L IR L
(1) i

(2) vaTEHfE

(3) TSI

(4) ==

(5) =W T T Ew

A o ¥

Trafeifas & @t fvas saes § 4 =1 wim fan
g ?

(1) =t

(2) i

(3) AR

(4) EEIERE T

(5) IR TR & A |

g9 2016 H WG TR A T fwm
ey fFan & fomd aria s arfea wa Foem
= faran T 7

(1) ==

(2) Z&M

(3) T YA

(4) TR

(5) SR o e |

WY - 11 fed 73 farm smmai mimy - 1 R g
I Hehdl ¥ gHfaa wifa ;

-1 =Y- 11
(A)  Tagd & I e

(1 @

(I11)
(IV})

‘a1 e W feae

(C) fomega we=t
(D) &

wet famen g
(1) (A)-@), B)-0), (©)-11), (D)-IV)
(2)  (A)-(n, (B)-(D), (-0, (D)-(1V}
(3)  (A)-(IV), (B)-(1), (C)-(1), (D)-(IIT)
@) (A)-(IVv), (B)-(11D), (C)-(11), (D)-(T)
(5) IR Tl & |

(B)

— T W=

—{

26.

27.

29.

Earthworms breathe through their
(1}  Lungs

(2) Tracheae

(3) Gills

(4] Skin

(3)  Not Attemnpted

Yeast 13 used in the production of :
(1) Sugar

(2) Oxygen

(3)  Alcohol

(4)  Hydrochloric Acid

(5) Not Attempted

In the year 2016, the Government of India has
initiated a mission called under

which a proper Sewage disposal have been
started.

(1) Ujwala

(2) Udaan

(3) Swachh Bharat
4 Namami Gange
(5) Not Attempted

Match electrical component given in
Column - I with the symbol given in
Column - IT :

Column -1 Column-1II
(A) Electric cell (1) — ]
(B) Switch in ‘ON’ (1) @
position
(C) - Electric Bulb (IIT)  ———
(D) Battery vy —=

Choose the correct option :

(1) (A)-(D), (B)-(I), (C)-(I1D), (D)-(1V)
@ (A)-), (B}-0), (C)-(1), (D)-(IV)
(3)  (A)-{V), (B)-(l), (C)-(1), (D)-(1T)
@ (A)-V), (B)-, ©-0, (O
(5) Not Attempted

B
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30, W T & oo
TR i g HTGal F1 | 0. The property of metals by which they can b
e Taet o 9 W 7 beaten into thin sheets is called :
(1) D (1) Conductivity
(2)  wfalsran g (2) Reactivity
(3) =@ (3) Ductility
(4) Malleability
4 ﬁ:ﬁqﬂi
2 (5] Not Attempted
(5) SR TR T =wd
. 31. Fivechildren A,B, C,DandE .
31. == A, B, C, D 791 E TW &1 3 §g Hlh Th a row, facing North but not na:z;ﬁr];d;ggtg
e 1 e & i smavas i s sl wm H A same order. ‘C’is to the right of E’and to the
:,c!l B Q,—aﬁ&fl’{aﬁ?'ﬁ'_ %a‘f Sfr{%| 1&13:“1-{ :Dsa; 1?:‘;1:1{ ?;iiil:-h -A-_ ﬂlnd ;ID' h?.VE one Child b&t"-'-fﬂen
daimma ¥ TRFTEFRE? (1) .E SRR Tadle af the o 7
(1) E | "
@ c @ C
(3] B (3) B
4 A 4) A
(5) IR TEl & e | (5)  Not Attempted
32, ﬁ%ﬂl"ﬁﬁfl ??&lﬁﬂ‘n‘ﬂﬁ?}'?ﬁ sreated wa | fegrm | 32. A set of English letters is given below in a
&1 wemsil & 3 w9 T T H for En Jambled prder, Sslect the combination:o
el 1 et ; numbers so that the letters arranged
& . . aﬂ:qz o ifiwaﬁ' accordingly will form a meaningful word. e
0] E
1. ‘2 & 4 B F ‘13 ;’ IS{ 1‘ 0 E
(1) 3,51,4,2,6 Koc,"f,g% i sy 5 6
2 21,53,6,4 ?gp‘f—%‘bﬂ 1) 3,5 1,426
3 251,364 ¢ o&q\{,ﬁy 2 2,1,53,6,4
4 41,5236 A& 3 2,51,36,4
(5) I AR AT =EEa | 4 4,1,52,3,6
(5) Not Attempted
33‘ qﬁﬁmﬁ” 'RHF%F%FWW%’EWQ’F R bd 33. If‘Q’is brother of R hen h
i X B * ig brother of son of R's son, then how is
AR i ‘Q’ related to ‘R’ ?
(1) I (1) Sen
(2) ==/ A (2) Uncle
(3 = (3) Grandson
(4) =T R EE (4) Cousin
(5) SO TE & e | (5) Not Attempted
Page ¢
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34, afe fdt ad ¥ 25 a0 =1 FaR &, 7139 w2 o

35.

ferae HTeTER B 2

1y 3

2 S

3 4

4 6

(5) S el < =HEd |

SrFyE AR IEF AR g i 1 e e €)1 oy
T Al HI W WG g0 AE 9 W | a2 4

34.

If 25'™" of August in a year is Thursday, then
how many Tuesdays will be there in that
month ?

(1 3

2) 5
3 4
(4) 6
(5) Not Attempted

. , 35. Two statements are given, followed by two
fi 91 #@1 7 wa 2 g, o Y fF FE-aya conclusions I and II. Assuming the
me;ﬁq—,ﬁ%qu aaTa = | Frere statements to be true even if they seem to be

7 at variance from the commonly known facts,
&/ Freperdl @ ' decide which of the conclusions logically
& : follow / follows from the given statements.
a9t ST 'E[?_‘:T % | Statements :
T ﬁ Y All animals are dogs.
Some dogs are dangerous.
ﬁﬁﬂf :
Conclusions :
L Ef ST T
. L All animals are dangerous.
HAMEL E |
= @ﬁ I. Some dogs are animals.
(1) ee foerd 1 freeran €1 (1)  Only Conclusion I follows.
(2) HEd firepd 11 e 81 (2) Only Conclusion II follows.
(3) Forewd 1 3 0 3R frehera €1 3) Both Conclusions I and II follow.
4 7 3t forsered 1 3R & LI TR &l (4)  Neither Conclusion I nor II follows.
(5) I & e | (5) Not Attempted
36, @ uaR fapeiIet &l HaY e &, ¢ TR 36. Kilometer is related to Distance in the same
e _-é_:, way as Newton is related to :
i Acceleration
1) word e
(2) Density
2 wEH
(3) Force
3 =@d
(4) Momentum
(4 wamd (5) Not Attempted e
2 e | SR age
iRl ] SPACE FOR ROUGH WORK
VNATH/G1
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37. | -
i?’f"iﬁ *TEE = 3T 92 ﬁﬁ‘“{ : 37. Find the next term of the series :
11,12, 16, 25,41, ? 11, 12, 16, 25, 41, 2.
1
(1) 65 (1) 65
(2) 66
(2) 66
(3) 69
3) 69
@) 72 )
4 72
(5) SR T ERA .
(5) Not Attempted
38, fouu =1 =9 =ifsu .
38. Find the odd one out:
1) RS
) (1) Ginger
(2) TR (2) Carrot
(3) SR (3) Potato
4 ZT[X (4) Tomato
(5) ST | (5) Not Attempted
39. dft uw fi=a Fevm F ‘COVET’ # ‘FRYHW’ 39. If in a certain code, ‘COVET’ is written a
foma - &, @1 =5 v § HIDE' ®1 F fomn FRYHW’ then how will ‘HIDE’ be written in th
T ? same language ?
(1) KLEF (1) KLEF
(2) KLGH (2) KLGH
(3) KLEI (3) KLEI
4 KGEF
X s (4) KGEF
5) FEFE < Hed |
) (5)  Not Attempted
40. F Al I fw H iy 0 WY ¥1 A€ AN | 40, S -
femm & 135° g2 w1 &, 0% AR fiorad fan A 135°in Hmiif;:ﬁ North direction. He turs
. =W 1 1 i
90° HE Wl &1 4 IneH1 Y form famn 7 #7 in the clock-wise di?:;;;e m?.n' cwpl s
(1) - ‘
(1)  North-East
(2 W
(2)  North
3) IW-ufrEn
(3) (3)  North-West
(4) HfE=m (4)  West
(5) 3w El & e | (5)  Not Attempted
VNATH/G1 % @1 2 f10 zerme / SPACE FOR ROUGH WORK —

Page !


Guest
Rectangle


41, 17 T W 700 A Awd w5 AN wm e ¥ | AL

LLE R IR G R ARE A, DR e

(1) tTAah
2) TS0
(3 TS5
(4] T A0

(5) I A Em oA

42. TA5-[28-137-(15-a))|=58 %, MW

t:

(1) -29
20 -19
(3 19
@4 29

(5) TR FE e = |

43, AT B3 ¥ T 22,500 791 2 35,000 FE@ Y,
o= wIR W fE | 27,600 FFA TN H B
am g
(1) 10,800
(2) 214,400
(3 16,800
(4) 19,200
(5) T @ e =ed |

Oy e llhime |7 halla far T T thers in A li==
topoal tn the coal pries of 5 R IE] The ro=t

e of ane faall fa

A T 45
{2 ¥ 50
iy ¥55
M 60

(5)  Not Attempted

42, WAS—[28 137 —[15 — Al =54, then the valus=

of xis

i) - 29
(21 - 19
(3 19
(4] 29

(5) Not Attempted

43. A and B started a business by investing

? 22,500 and T 35,000 reapectively. Out of s
total profit of T 27 600, B share 1=

(1) 10,800

(2) T14,400

(3) 16,800

(4) T19,200

(5) Not Attempted

44. If X }- . then the value of f‘._'- !_. -
2 . 3 e - i
- 'lil
I g
5
@
-5
i 2
(4 3
¥ Illi"i
(5) Nl :\Hﬂill -_"_________'__'_.____,___.__.---"!"l'

e, )
. X1t X TE mamen:
Yy 3 x =y
- 10
(1) 9
3
2 7
-5
(3) P
=
@ |
(5) e & e

VNATH / G1
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qﬁmm%ﬁmﬁﬁmﬁmwm

%5 q‘m_maﬂn 168 =1 H12X &, T 1mrm ) w o

(1) 12T

(2) 17

(3) 24T

(4) 31

(5) ST TRl oA =R |

T =0 = frg o0 R e uf 12 9 §
AT B S ® 2

(5) TR @ < W |

. 2750 U Ul | Theq F1 U Sigl @iied €, el 39
20% F21 et T &1 e IAT 1,600 feu o fre
3 Fr-dt Tffr 39 ShH F TF SIg H difhd e
§7

53.

if the length ot the L= o 2 i 1o
rectangle are 25 M and 168 m* respectiyy
then the longer side of the rectangle is :

(1) 12m
(2) 17 m
(3) 24m
4 31m

(5) Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

1
g§—%
m 8
1
g—%
@ 83
(3 8%
1
g-_
@ 9%

(5) Not Attempted

hrun‘buys a pair of skates at a sale whe
the d!scount given is 20%. If the amount!
pays is ¥ 1,600, then which of the following
the marked price of the pair of skates ?

(1) ¥1,280

(1) T1,280
(2) ¥1,600 (2) T 1,600
(3) ¥1,920 (3) ¥ 1,920
4 2,000 (4) 2,000
5 W el &1 =ed | (5) Not Attempted
(9) »
Page '
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Choose the correctly spelt word
(1) humorus - 60 -
(2) humorous « Pick out the part
(3) humoros error. If of the sentence whic
wre is no e ich hﬂs an
(4) humarous This is the 1] FTOF, YOur answer is (4)
|.5| Not Mtﬂmptml r:;rl communication [ have ‘?*"Ht-f
Choose the alternative whi and I a
; vhic fiamm j
the given sentence in ],“l:i:' lH‘ntr exXpresses uch surpriser ;
The accountant took ”“‘\*dc Voice, it (H)
-:ustﬂl:ll}ﬂf- > cheque from the ——CIVINg NO ANSwer
(1 he cheque is taken f (<)
, l' -
by the accountant. om the customer :"g: A
(2) The cheque was (B)
t
customer by the acﬂmﬁ-‘.{iﬂ“ from the 3)(C)
(3) The customer was o =:;1t. (4)  No error
the accountant. 1e cheque by (5)  Not Attempted
(4) The cheque had b 61. Fill i '
een . Fill in the bl .
i by the EECGUI:;};EH MO e You will :;:-:JL'.nk with suitable alternative
(5) Not Attempted o8 0 slees overtake him unless you -
In the following questi (2) w . -
on alk qu P
of the sentence are ﬁtfn?;st and the last (3) play i
The rest of the sentence is split if;_:"tEd S, & S, (4)  reading
andnamed P, Q, Rand S. T o four parts (5) Not Atte
jumbled. Re-arran - These four parts mpted
Sy - Even mda e e ord:::e 62. Choose the alternative wh
P- RY 1D many countries ; the meani ative which best expresses
neglected ning of th N AT
and there are far Thﬂ:r" sald A e underlined idiom
Q - women continue to be 1 0 their old house beca u-si,;l P
SR - who have had the benefit of a white elephant . it was
Sg - educati . 2 _ a
on and vocation training (2) useless
(1. PQRS (3)  very comfortable
(2] QPSR (4) collapsing
{[;5] RQPS (S)  Not Attempted
] SQRP 63. Fi
, . Find out the antony .
(5) Not Attempted (1) rare ntonym of frequent’
Eph::lie the following sentence into indirect :g; tl:ctum
clhl. car
Shﬂlcti caid to his friend, “Look outl There is S o
usﬂﬂkﬁ behind you”. (5) Not Attempted
) Shakt_i told his friend to look out as 64. Find out the synonym of
there is a snake behind him. in the followi ym of the underlined word
2) Sh f . . . . ving sentence
kti exclaimed to his friend with o travel hopef ' :
surprise that there could be a snake ; hopefully is a better thing than te
. behind him. arrive, at_ui the true success is to labo
) Seeing a snake pehind him, Shakti {,“ rationally e
" asked his friend to 100K out. (2)  positively
(4)  Shakti warned his friend that there was (3) negligence
a snake behind him. (4) carelessly
(5) Not Att,emptﬂd (2 Not Attempred
PACE FOR AOUGH
WORK Page 15
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67.

69.

Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer 1s (4).

Passengers are requested not to sit on the floor.

(1)  tonot sit

(2) tonot to sit

(3) requested to sit
(4) No Improvement
(5)  Not Attempted

- A Wl R A I &2
(1) =i 39 9= 9d Ft &)

(2) I = T A "

@) 3 shom|

(4) “ﬂ?}ﬂq’{ﬂaﬁ%l

(5) IO TR & =R |

‘g 9 H 3@ o9 g A F Eied ve W
Ty ST TAiEarE v § -

(1) =nfe=

(2)  =ifeER

(3) =

(4) @A

(5) Fet el &1 =1 |

(1) d=h

(2) @R

(3) EFF

(4) THER

(5) S A A =Ted |

‘peatedl o @ e T T A AR
gﬁzﬁﬁm%‘:

(1) 31 AR

2) aﬁmﬂaﬁw-ﬂ
(3) wid SR

(4) Www
(5) e el e Hed |

T0.

T1.

T2,

73.

74.

75.

few 0 foy Fore ) 1 9 9 T €7
(2) Fﬂﬁmﬁﬁﬁﬁtqﬁ%|
(3) @t far ¥ A @ €

(9) T TEl & AR |

oy T T e & W A, I FEd € -
(1) U

@) s

3 f&m

(4) EERYE

(5) ﬁ[qﬁhml

few T o fampen H = 1 I8 BY 8 7
(1) HfeFm

(2) S=Ed

@ T

(4) b

(5) ST & A |
smﬁ?ﬂm#aﬁﬁqﬁéﬁ:%m ‘ - .
TH IR T - e ST

(1) Tgfa
(2)  TIrEE
(3) TR
(4) VIRE

(5) IRV & = |
‘e’ ¥ AT | T AT SEE I e

¥ -

(1) f:smm

(2) Tremm

(3) T

(4) e

(5) I T WA

‘et T A @ tﬂﬁl'a’gﬁ’(mﬁﬁmm
-

(1) i 3 B |

(2) SpevE T ) EE &

(3) e & T 3|

() ofqe e O @Y HEA

(5) mﬁﬁa_m_*v:_ﬁm

>t el & TeTe Rl / SPACE FOR ROUG
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6. T fa fod 82

76.  How many districta are there in Harvana ?
(1) 21 (ny 21
@ 22 2 22
(3) 23 (3 23
(4) 24 w24
(5) I T A wd

(5)  Not Attempterl

77 Wﬁ[’? HUEN me (73 U3 5 % Wi 1 et 1 T7. Consider the following statements in respect

B FR-1 wvm TR of National Security Guards [NSG) -

(A T3 TR F W e ElziGeRct R (A) Operational Headquarter of NSG is in

Manesar.

B ; a ﬂ i 5 .

& T e HART % hakd (B) NSG comes under the contral of Union
ERECah-k- FA-FA A w8 Ministry of Home Affairs.

(1) ij;aa{m Which of the above statements is/are

correct ?

gl (1) (A)only

@3) () ¥R (B) 2R (2 (B)only

(4 AW @ FRI& () (3)  Both (A} and (&)

(5) I 6 T =

(4)  Neither (A) nor (B)

(5) Not Attempted
78. = F fem W ¥ wow goEe 09 W e

TEmMITWE? 78. In w}?ich month of the vear, the famous
(1) = ?{:;?;E;;d mela is held every vear in
(2) T (1)  March
(3) @EE (2) December
(4) wEd (3) October
(5) = T & wmed | (4)  February
(5] Not Attempted
79. Hera e H e F o e v an v
™ ®? 79. In the Mahabharata period, which term was
) fits used for H-ﬂl'}'ill'li'l ?
(1)  Haribanak
I (2)  Bahudhanvakva
3) e (3)  Hariyala
(4) whEAE (4} Haryvanak
(5) =W E A (5) Not Attempted
VNATH/ G1
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B80.

81.

82.

83.

VN

ffsi = wsits fymm ) wE &Y % fom ufad A

FTRISES Y1 W1 ¥, 7 it < e Py e
¥ T R w6

(1) ¥ v
(2) & v
(3) ™ T
4) =iy wEes
(5) I &

ﬁﬂ%f@aﬁﬁaﬁqﬁﬁwmmqm,aﬁafﬂ
TS T E 7

(1) = =fs fa=
(2) &t F=um

(3) & 5= =% I
(4) =t goa SR
(5) =T ST TEa

A HA Wiaeie JeE dreen g e afor w3
-1 H F F4 A eg Wiaeie e = sfuifa
fFm s ?

)y 2
2 3
(3 4
4) 5
(5) =% 7 &1 =ed |

- ﬁﬁﬁﬁqmqﬂgﬁmﬂﬂﬁmqm%?

(1) Cru-C el

) IR

g A

@ A
g R

RO.

81.

82,

B3.

cient Heritage of Pinjore
(d everv yvear. One is the
which is the second

To promote the an
two festivals are hr:l. X
‘Pinjore Heritage festival’,

one ?

(1) Orange festival
(2) Dates festival

(3) Mango festival
(4} Lemon festival
(5) Not Attempted

Who among the following is the Minister of
Environment, Forests and Wildlife of Haryana
State ?

(1) Shree Anil Vijj

(2) Shree Kanwar Pal

(3) Shree Mool Chand Sharma
(4) Shree Dushvant Chautala
(5) Not Attempted

?».'Iukhya Mantri Pragatisheel Samman Yojana
1s to motivate the progressive farmers for
adopting best agriculture practices in how
many categories of land holding ?

1) 2
(2) 3
3) 4
4y 5
(5)  Not Attempted

Which amongst the followine i
of Haryang ollowing is the State Tre

(1) Banyan Tree
(2] Sacreq Fig
3) Mango Tree
4 Sal Tree

(5)

Not Attempted
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84. ﬁ'ﬁfﬁﬁaamﬁﬁtrtﬁaﬂaﬁfsrq;

84. Consider the following statements :

rate

(A) e ferm s fom # (A]  Rohtak has a Police Commissione
(B) Hrgg § yfem ST fem located there. ST
B i ice Commissioner
g 3 7 = R
(1) Fad (a) Which of the above statements is/are
(2) @ (B) correct ?
(3)  (A)si (B) 3 v i
(2)  (B)only
4
@ AW ARE B (3) Both (A) and (B)
(5) 3 T 1 = (4)  Neither (A) nor (B)
(3) Not Attempted
85. 19 94 2022-23 % forw, wftamon v & @ ¥
fem 1 =% =1 fofe wfeerw omeifen frr T 82 | 85, For the financial year 2022-23, what is the
(1)  14.2% percentage of the total expenditure allocated
2) 6.2% towards Health in the Haryana State ?
(3) 8.5% (1) 14.2%
(4) 5.8% 2) 6.2%
(5) I TE N = (3 8.5%
@) 5.8%
86. frefofm Tl T famm o (5)  Not Attempted
(A)  wFTgE @ wer w1 i faeet Wy ot 1 ,
# B6. Consider the following statements @
® o oy Oy (A) g(;ﬁi?at and Jhajjar share border with
I | F-w/ W FUT T E/E? (B) Rohtak does not share border with Delhi.
(1) m[ﬁl Which of the above statements is/are
correct ?
s s (1) (&) only
) {‘“‘;:m ‘:}:r"" (2 (B)only
(4) Ad(A) FRTE(B) (3) Both (A) and (B)
(5) I TE & e | (4)  Neither (A) nor (B)
(5] Not Attempted
g7. o fF| T & sl €7
(1) T 87. Neemrana comes under which State ?
2) e (1] Rajasthan
o 3
(4) IES (4) Uttarakhand
(5) I Skl e | (5) Mot Attempted
Page 19
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88. wfimn wow & e W F A G €7
(1) =8

(2 7
3) 6
1 5
(5) 3w = & =

89, %Wmﬁaﬁm:
(A) 721 wifem Tgmn e 6 ¥

B) =1 wfem g R T & W WE

TEH F A Fe-a .
0 o IEE R R TLY
() (@) shk () i

(4) T4 (a) ST (B)

(5) mﬁhmﬁl

B m@ﬁwmwm’@ﬁ%?

(1) w=Fen
(2) THum
(3) wiEEE
(4) A=

(5) W Tl < =ed |

91. sfqu met sifa T wiw i sfamn + e

o H &7
(1) =N
(2) famm
(3 fem
(4) T2
(5) 3¢ 7l 1 = |
aci Wﬁﬁﬁg@ﬁﬂ?ﬁmm%?

=& & e |
(5) I ﬂﬂéﬁiwmﬁJ’SPﬁCE FOR ROUGH WORK Page 20

89.

90.

91,

many Rajya gabha seats does Haryana
How

have 7
m B8
2 7
3 ©
4 5]
5, Not Attempted

(5)

Consider the following statements :

(A) Mada Sahib Gurudwara is situated in
Ambala. -

(B) Nada Sahib Gurudwara 18 situated on
the bank of river Ghaggar.

Which of the above statements is/are

correct ?

(1) (A)only

(2) (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)
(5) Not Attempted

In which district is the Indian National
Defence University located ?

(1) Panchkula

(2) Gurugram

(3) Faridabad

(4] Karnal

(5) Not Attempted

¥nd%ra Gandhi Super Thermal Power Project
is situated in which district of Haryana ?

(1) Jhajjar
(2) Sirsa
(3) Hisar
(4) Jind

(5) Not Attempted

Garima C i
s haudhary is well known for which

(1)  Judo

(2)  Kabaddi
(3) Wrestling
(4)  Archery

(5)  Not Attempted
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frerfafea 9 9 frga sfamm —
it 3 A T ?;Fﬁff 93. Who amongst the following did not play for

= wen @17 Haryana in Ranji Trophy ?

(1) = e (1) Maninder Singh

(2) et &F (2)  Kapil Dev

(3) W’ﬁ_ﬂa (3)  Rajinder Goel

(4) TR ATER (4)  Sarkar Talwar

(5) I &1 = =T | (5] Not Attempted
e fw o e ®2 94. In which district is Narnaul situated ?

a) fE (1) Jind

2) A (2) Kaithal

(3) TR (3) Mahendragarh

(4) EIGGED (4) Rohtak

(5) W & = =T | (5) Not Attempted

. frefefen § 9 T it HH-E T 9=t fart | 95. Which of the following dance forms of Haryana

is associated with Mewati tribe ?

S @ TEE © 7

(1) = (1) Dhamal

2) = (2) Ratvai

(3) (3) Phag

(4) T (4) Gugga

(5) 3k T 1 =Ed | (5) NotAttempted

. HerETel HeIdRa’ & T FTE? 96. Who was the author of epic Mahabharata’ ?

(1) HH (1) Magh

(2) HIfaEE (2) Kalidas

(3 Wefd arcHii® (3) Maharishi Valmiki
(4) Teld SeAH (4) Maharishi Vedvyasa
(5) IR A =7ed | (5) Not Attempted

Frefafaad 9 { FA B F Y@ FU™ IeE | 97. Which one of the following is not amongst the
major cotton growing districts of Haryana ?

A UEE E 7

(y fa (1) Sirsa
(2) HHTA (2) Sonipat
(3 (3) Ambala
@4 @& (4) Rewari
(5) m.%‘f &1 e | (5) Not Attempted
i S TSo s GPACE FOR ROUGH WORK Page 21
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0.

hhdy
WT%‘&W(Gﬁ@@m%ﬁﬁwﬁﬁ
Fifora

(A) gﬁﬁw :
1 Tt o
kL e

®) Slie ferem 3 <t ww €

Wwaﬁ@?ﬁu}m#ﬁ v

fy & ™
(1) MRS VAL IS

(A)

@) S (g
B) (A sir (B) 3
(4) =3 (a) A4 (B)
(1) =g
(2) wfgan
(3) =il
(4) ®H
(5) I Al o =@ |
mﬁﬂﬁﬁﬁmﬂﬁﬁmﬂﬁ?%mmﬁ
Tl S € 7
(1) =
[2] AT
3 *
4) T
:5: mqﬁamﬂ?ﬂ

.p0DO-

99.

98. Consider the fo

100.

llowing statements about Gross

State Domestic Product (GSDP) :

(A) GSDP of Haryana is more than that of
Bihar.

(B) GSDP of Punjab is more than that of
Haryana.

Which of the above statements is/are
correct ?

(1) (A only

(2) (B)only

(3) Both (A)and (B]

(4) Neither (A) nor (B)
(5 Not Attempted

‘Ottu’ barrage is on which river in Haryana ?

(1) Yamuna

(2) Sahiba

(3) Tangri

@) Ghaggar

(5) Not Attempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3) Foot

(4) Nose

(3)  Not Attempted
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